
CHEMISTRY

RESONANCE ENGLISH

GENERAL ORGANIC CHEMISTRY II

Solved example

1. Arrange the following in the decreasing order of their acidity.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_I5rwnBdEkBfh


Exercise-1

2. Arrange the following in the increasing order of their acidity.

Watch Video Solution

3. Compare the acidic character of the following:

Watch Video Solution

https://dl.doubtnut.com/l/_Sw820Bil2cWO
https://dl.doubtnut.com/l/_aUU5nCBKARvO


1. Arrange the following in decreasing order of stability 

Watch Video Solution

2. Arrange the following in decreasing order of stability 

Watch Video Solution

https://dl.doubtnut.com/l/_ySlwOKNBXNI7
https://dl.doubtnut.com/l/_g1Ywj4bneZQc


3. Range the following free radicals in increasing order of their stability

and give appropriate reasons. 

Watch Video Solution

4. Arrange the following free radicals in decreasing order of stability: 

Watch Video Solution

5. Arrange the following carbocations in decreasing order of their

stability: 

https://dl.doubtnut.com/l/_onxQ2A9EmBV8
https://dl.doubtnut.com/l/_B2CBMBKFxh00
https://dl.doubtnut.com/l/_z7XeUNHlQ0IP


Watch Video Solution

6. Which of the following carbocation is more stable and why?

Watch Video Solution

7.  


Draw the structure of P and Q.

https://dl.doubtnut.com/l/_z7XeUNHlQ0IP
https://dl.doubtnut.com/l/_8a78WaVRR3DU
https://dl.doubtnut.com/l/_MHgr7fvygeOJ


Watch Video Solution

8. Compare the basic strength of the following compounds: 

Watch Video Solution

C2H5O
−

( I )
    C2H

−
5

( II )

    C2H5NH −

( III )
    NH2 −

( IV )

    F −

( V )

9. Compare the basic strength of the following compound: 

Watch Video Solution

https://dl.doubtnut.com/l/_MHgr7fvygeOJ
https://dl.doubtnut.com/l/_Bi28lZlHq3bG
https://dl.doubtnut.com/l/_wKk3YEVm6ybp


10. Which of the following group is most basic in the given compounds" 

Watch Video Solution

11. Which of the following is a stronger base? Give reason to justify your

answer. 

Watch Video Solution

CH2 = CH − NH2             CH2 = N − CH3

                I                        II

https://dl.doubtnut.com/l/_38P7cCrh3eD1
https://dl.doubtnut.com/l/_ZvuskFqFc9i6
https://dl.doubtnut.com/l/_GJJuU3ry9rhk


12. Which 'H' atom is most acidic in the following compounds. 

Watch Video Solution

13. Arrange the following in decreasing order of acidity 

Watch Video Solution

https://dl.doubtnut.com/l/_GJJuU3ry9rhk
https://dl.doubtnut.com/l/_w9LpxsjR4eQy


14. The given compound is a strong acid. Justify this statement. X=

Watch Video Solution

15. Which of the following reactions is/are feasible? 

Watch Video Solution

https://dl.doubtnut.com/l/_LZLYql0WVRoC
https://dl.doubtnut.com/l/_Ys2RL8c68VTy


16. Which of the following reaction is feasible? 

Watch Video Solution

17. Which of the following acids (given below) react with  and

liberate  ? 


Watch Video Solution

NaHCO3

CO2(g)

https://dl.doubtnut.com/l/_XoXrapBIYEe9
https://dl.doubtnut.com/l/_7xn3FG4gAg9z


18. Which of the following compounds will exhibit tautomerism? 

Watch Video Solution

19. Write the tautomers of the following compounds. 

Watch Video Solution

20. Monocarbonyl compounds have very small percentage enol form at

equilibrium . Explains.

Watch Video Solution

https://dl.doubtnut.com/l/_uCqnZxXYPV2D
https://dl.doubtnut.com/l/_BqXbygIACbhQ
https://dl.doubtnut.com/l/_Qg8iIo2q8lWx


Part-II Only One Option Correct Type

1. Which of the following is least stable carbanion ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

HC = − ¯̄̄C

(C6H5)3
¯̄̄C

(CH3)3
¯̄̄C

¯̄̄CH3

2. The most stable anion is:

A. 

https://dl.doubtnut.com/l/_2dDaMebUc01O
https://dl.doubtnut.com/l/_0LDQA2B1rQmi


B. 

C. 

D. 

Answer: A

Watch Video Solution

3. In which of the following pairs of carbarion the first one is more stable

than correct.

https://dl.doubtnut.com/l/_0LDQA2B1rQmi
https://dl.doubtnut.com/l/_YoIFc929DC0j


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

⊙

CF3,
⊙

CCl3

HC ≡
 ⊙

C , H2C =
⊙

CH

(CH3),
⊙

C, H3C −
⊙

CH2

4. Arrange the followinng carbocations in decreasing order of stability 

https://dl.doubtnut.com/l/_YoIFc929DC0j
https://dl.doubtnut.com/l/_hAaFCjBonhOk


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

III > I > IV > II

III > II > I > IV

I > III > II > IV

III > I > II > IV

5. The most stable ion is .

A. 

B. 

https://dl.doubtnut.com/l/_hAaFCjBonhOk
https://dl.doubtnut.com/l/_xY91jElEcEpE


C. 

D. 

Answer: B

Watch Video Solution

6. Arrange the following carbanions in increasing order of stability: 

A. 

B. 

C. 

III > V I > I > II

I > III > IV > II

I > II > III > IV

https://dl.doubtnut.com/l/_xY91jElEcEpE
https://dl.doubtnut.com/l/_Lj5Ef2RM5PYh


D. 

Answer: D

Watch Video Solution

I > IV > III > II

7. Among the following, the paramagnetic species is:

A. Free radical

B. Carbocation

C. Carbanion

D. All the three

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Lj5Ef2RM5PYh
https://dl.doubtnut.com/l/_OAlGnsWffW6j


8. The stability of given free radicals in decreasing order is 

(i)  

(ii)  


(iii)  

(iv) 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3 −
.

CH2

CH3 − C
.

H − CH3

CH3 −
.

C
∣

CH3

− CH3

.

CH3

iii > iv > I > ii

I > ii > iii > iv

iii > ii > iv > i

iii > ii > I > iv

9. Which of the following is the correct order of stability of free radicals ?

A. benzyl  allyl > > 2
o
− > 1

o
−

https://dl.doubtnut.com/l/_ckXLwGsD0VbZ
https://dl.doubtnut.com/l/_Hd14mNaqCJgw


B. allyl  benzyl 

C. allyl  benzyl

D. benzyl  allyl

Answer: A

Watch Video Solution

> > 2
o
− > 1

o
−

> 2
o
− > 1

o
−

> 2
o
− > 1

o
−

10. Most stable radical among the following is :

A. 

B. 

C. 

https://dl.doubtnut.com/l/_Hd14mNaqCJgw
https://dl.doubtnut.com/l/_58cT4CWu58nP


D. 

Answer: C

Watch Video Solution

11. Arrange the following radicals in decreasing order of their stability. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

IV > I > III > II

IV > III > II > I

I > II > III > IV

IV > III > I > II

https://dl.doubtnut.com/l/_58cT4CWu58nP
https://dl.doubtnut.com/l/_BsdHbeCAyzrJ


12. Least stable radical among the following is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_BsdHbeCAyzrJ
https://dl.doubtnut.com/l/_wEW0SFZWtQaI
https://dl.doubtnut.com/l/_ZNlxHtbaTSze


13. The most stable carbocation is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ch3C
⊕
H2

Cl − CH2 −
⊕

CH2

⊕

CH2 − CHO

⊕

CH2 − O − CH3

14. The most stable carbocation is:

A. 

B. 

https://dl.doubtnut.com/l/_ZNlxHtbaTSze
https://dl.doubtnut.com/l/_HTMRXc70m0gG


C. 

D. 

Answer: B

Watch Video Solution

15. Which of the following shows the correct order of decreasing

stability?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_HTMRXc70m0gG
https://dl.doubtnut.com/l/_udV42nqdbZuM


D. 

Answer: B

Watch Video Solution

16. Which of the following is the arranged more stable carbocation of the

given species ? 

A. 

B. 

C. 

D. 

CH3 −

CH3

∣

C
∣

CH3

−
⊕

CH − CH3 →

CH3 −

CH3

∣

C
∣

CH3

− C
⊕
H − CH3

CH3 −

CH3

∣

C
∣

CH3

− CH2 −
⊕

CH2

CH3 −

CH3

∣

C
⊕

−

CH3

∣

CH − CH3

CH3 −

CH3

∣

C − CH
∣

CH3

−
⊕

CH2

https://dl.doubtnut.com/l/_udV42nqdbZuM
https://dl.doubtnut.com/l/_56Vh8eaE9Yrx


Answer: C

Watch Video Solution

17. Most stable rearranged form of given carbocations is: 

A. 

B. 

C. 

https://dl.doubtnut.com/l/_56Vh8eaE9Yrx
https://dl.doubtnut.com/l/_XQF2V8rKlpWL


D. 

Answer: D

Watch Video Solution

18. Which of the following in the rearranged in the rearranged more

stable carbocation of the given species? 

A. 

B. 

https://dl.doubtnut.com/l/_XQF2V8rKlpWL
https://dl.doubtnut.com/l/_IwBKZvyveyIe


C. 

D. 

Answer: B

Watch Video Solution

19. The correct basic strength order of following anions is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3 −
Ө

CH2 >
Ө

NH2 > CH2 =
Ө

CH > CH ≡
Ө

C > H
Ө

O >
Ө

F

Ө

NH2 < CH3 −
Ө

CH2 > CH2 =
Ө

CH > CH ≡
Ө

C >
Ө

F > H
Ө

O

CH3 −
Ө

CH2 > CH2 =
Ө

CH >
Ө

NH2 > CH ≡
Ө

C > H
Ө

O >
Ө

F

Ө

F > H
Ө

O > Ch ≡
Ө

C > CH2 =
Ө

CH >
Ө

NH2 > CH3 −
Ө

CH2

https://dl.doubtnut.com/l/_IwBKZvyveyIe
https://dl.doubtnut.com/l/_dS9dK20BuiJn


20. Which of the following shows the correct order of decreasing basicity

in gas phase?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(CH3)3N > (CH3)2NH > CH3NH2 > NH3

(CH3)2NH > (CH3)3N > CH3NH2 > NH3

(CH3)2NH > CH3NH2 > (CH3)3N > NH3

(CH3)2NH > CH3NH2 > NH3 > (CH3)3N

21. Find the order of basic strength .(If R=Me) ? 

A. 

B. 

C. 

(I)R4N
+OH −     (II)R3N     (III)R2NH     (IV )RNH2

I > III > IV > II

IV > III > I > II

II > IV > III > I

https://dl.doubtnut.com/l/_1MK1W3j9lFea
https://dl.doubtnut.com/l/_vKemFoSlNxax


D. 

Answer: A

Watch Video Solution

II > IV > I > III

22. Which of the following cannot be a base?

A. 

B. 

C. 

D. 

CH3 − C
∣ ∣

O

− NH2

https://dl.doubtnut.com/l/_vKemFoSlNxax
https://dl.doubtnut.com/l/_W61RavunIeLj


Answer: D

Watch Video Solution

23. Select the basic strength order of following molecules ? 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

II > III > IV > I

II > IV > III > I

IV > II > III > I

IV > III > I > II

https://dl.doubtnut.com/l/_W61RavunIeLj
https://dl.doubtnut.com/l/_48Z7k4k0qKz1


24. Among the following compounds the strongest acid is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

HC ≡ CH

C6H6

C2H6

CH3OH

25. Which of the following is not correct decreasing  order .

A. 

B. 

C. 

D. 

ka

CH4 > NH3 > H2O > HF

CH3 − OH > CH3 − NH2 > CH3 − F > CH3 − CH3

Hl > HBr > HCl > HF

PhOH > H2O > C2H5OH > CH3 − C ≡ CH

https://dl.doubtnut.com/l/_HrtegyzhD03V
https://dl.doubtnut.com/l/_IYLa0l2wvu6e


Answer: A

Watch Video Solution

26. Which of the following acids has the smallest value of dissociation

constant?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3 − C
∣

NO2

H − COOH

O2N − CH2 − CH2 _ COOH

Cl − CH2 − CH2 − COOH

NC − CH2 − CH2 − COOH

27. Find the strongest acid among the following compounds is:

https://dl.doubtnut.com/l/_IYLa0l2wvu6e
https://dl.doubtnut.com/l/_Xxc4v1a59cG3
https://dl.doubtnut.com/l/_WxHHIkokc1tO


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HOOC − (CH2)2 − COOH

H3N
⊕ − (CH2)2 − COOH

F − (CH2)2 − COOH

CH3 − (CH2)2 − COOH

28. Which of the following options shows the correct order of decreasing

acidity:

A. 

B. 

C. 

D. 

Answer: D

PhCO2H > PhSO3H > PhCH2H > PhOH

PhSO3H > PhOH > PhCH2H > PhCO2H

PhCO2H > PhOH > PhCH2H > PhSO3H

PhSO3H > PhCO2H > PhOH > PhCH2H

https://dl.doubtnut.com/l/_WxHHIkokc1tO
https://dl.doubtnut.com/l/_m65MyYXeYg6w


Watch Video Solution

29. Arrange increasing order of acidic strength of following dibasic acids: 

(I) oxalic acid. (II) succinic acid  (III) malonic acid (IV) adipic

acid

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

            

III < II < I < IV

II < III > I > IV

I > III > II > IV

II > I > III < IV

https://dl.doubtnut.com/l/_m65MyYXeYg6w
https://dl.doubtnut.com/l/_d2XleWyfqbjK


30.  


Arrange above phenol in increasing order of  value:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

pKa

I < II < III

III < I < II

III < II < I

I < III < II

https://dl.doubtnut.com/l/_1B1OASP2okS7


31. Order of  of following acids is: 


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ka

I > II > III

II > I > III

I > III > II

III > I > II

32. Arrange the following compounds in increasing order of their acidic

strength. 

https://dl.doubtnut.com/l/_O0QZRQ0gtktr
https://dl.doubtnut.com/l/_GT6VCKJIQc1g


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

I < II < III < IV

IV < I < III < II

IV < II < I < III

II < I < III < IV

33.  , The

products will be:

https://dl.doubtnut.com/l/_GT6VCKJIQc1g
https://dl.doubtnut.com/l/_xXNwjOlqV15C


A. 

B. 

C. 

D. Reaction is not feasible

Answer: B

Watch Video Solution

34. Which reaction is not feasible ?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_xXNwjOlqV15C
https://dl.doubtnut.com/l/_lSp3sTcFzrdU


D. 

Answer: C

Watch Video Solution

35. Which of the following will accept  from  ion.

A. 

B. 

C. 

D. 

H + NH4

CH3 − CH2 − NH2

https://dl.doubtnut.com/l/_lSp3sTcFzrdU
https://dl.doubtnut.com/l/_il1dJ2uR1QCW


Answer: D

Watch Video Solution

36. Complete the following reaction

A. 

B. 

C. 

https://dl.doubtnut.com/l/_il1dJ2uR1QCW
https://dl.doubtnut.com/l/_DFhVzS0zTZNq


D. 

Answer: C

Watch Video Solution

37. Keto enol tautomerism is not observed in:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C6H6 −

O

∣ ∣

C − H

C6H6 −

O

∣ ∣

C − CH3

C6H6 −

O

∣ ∣

C − CH(CH3)2

C6H6 −

O

∣ ∣

C − CH2 −

O

∣ ∣

C − CH3

https://dl.doubtnut.com/l/_DFhVzS0zTZNq
https://dl.doubtnut.com/l/_I2UvBGAaBV9n
https://dl.doubtnut.com/l/_7fjy2xotWf9z


38. The enolic form of acetone contains:

A.  bonds,  bond and 1 lone pairs

B.  bond,  bond and 2 lone pairs

C.  bond,  bond and 1 lone pair

D.  bond,  bond and 1 lone pair

Answer: A

Watch Video Solution

9σ 1π

8σ 2π

10σ 1π

9σ 2π

https://dl.doubtnut.com/l/_7fjy2xotWf9z


39.  

The above molecule can be enolised by which hydrogen ?

A. 

B. 

C. both

D. None of these

y − H

x − H

https://dl.doubtnut.com/l/_u6wY21pu9eCz


Answer: B

Watch Video Solution

40. Which among the following compound will give maximum enol

content in solution :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C6H6 −

O

∣ ∣

C − CH2 −

O

∣ ∣

C − CH3

CH3 −

O

∣ ∣

C − CH2 −

O

∣ ∣

C − CH3

CH3 −

O

∣ ∣

C − CH2 − CH2 − CH3

CH3 −

O

∣ ∣

C − CH2 − COOC2H5

https://dl.doubtnut.com/l/_u6wY21pu9eCz
https://dl.doubtnut.com/l/_wwlHoGI2WCpp


Part-III: Match the Column

41. Arrange the following in decreasing order of percentage enol content.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

I > II > III > IV

II > I > III > IV

II > III > I > IV

III > II > IV > I

https://dl.doubtnut.com/l/_IQ9itxnWkC2z


1. Match the column 

 


Watch Video Solution

2. Match the column 

Watch Video Solution

https://dl.doubtnut.com/l/_peDrB7Fvpmk6
https://dl.doubtnut.com/l/_h6BUDwV2qYWX


Part-I : Only One Option Correct Type

1. Arrange following compounds in decreasing order of their dipole

moment. 

 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3 − CH2 − NO2
I

     CH3 − CH2 − NH2
II

     CH3 − CH2 − F
III

CH3 − CH2 − C ≡ N
IV

III > II > IV > I

III > II > I > IV

III > I > II > IV

II > III > I > IV

https://dl.doubtnut.com/l/_SNi4udEpaVvU


2. Correct decreasing stability order of following carbanions : 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ӨCH2
    I

− CHO       CH3 − C
∣ ∣

O

− ӨCH − C
∣ ∣

O
II   

− CH3       H − −
∣ ∣

O
III

Ө

CH −

III > IV > II > I

IV > II > III > I

IV > III > II > I

III > II > I > IV

3. Select the most stable intermediates :

https://dl.doubtnut.com/l/_E6sUgWEZouYX
https://dl.doubtnut.com/l/_VWKTko4F09dW


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_VWKTko4F09dW


Watch Video Solution

4. Which of the following is most stable carbocation?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3

⊕

CH2

CH3

⊕

C = O

CH3 −
⊕

C = NH

CH2 =
⊕

CH

5. The most stable carbocation is:

A. 

B. 

C. 

https://dl.doubtnut.com/l/_VWKTko4F09dW
https://dl.doubtnut.com/l/_UBya8SatgZwI
https://dl.doubtnut.com/l/_ylrEeBtTF9P3


D. 

Answer: A

Watch Video Solution

6. The following carbocation rearranges to 

A. 

B. 

C. 

D. 

Answer: D

CH2 = C
∣

CH3

−

CH3

∣

C −
⊕

CH −

CH3

∣

CH − CH3

CH2 = C
∣

Ch3

− C
∣

C
⊕
H2

H −

CH3

∣

C H −

CH3

∣

C H − CH3

CH2 = C
∣

CH3

−

CH3

∣

C
∣

CH3

− CH2 −

CH3

∣

C
⊕

− CH3

CH2 = C
∣

CH3

−

CH3

∣

C
∣

CH3

−

CH3

∣

C H −
⊕

C
∣

H

− CH3

CH3 = C
∣

CH3

−
⊕

C
∣

CH3

−

CH3

∣

C H −

CH3

∣

C H − CH3

https://dl.doubtnut.com/l/_ylrEeBtTF9P3
https://dl.doubtnut.com/l/_CelQ7Ef3SJHf


Watch Video Solution

7. Correct basic strength order is : 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

r > q > p > s

r > p > q > s

q > r > p > s

r > q > s > p

https://dl.doubtnut.com/l/_CelQ7Ef3SJHf
https://dl.doubtnut.com/l/_UEDHp0RflFfs


8. The order of basic strength of the given basic nitrogen atoms is : 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

III > II > I > IV

III > I > II > IV

I > III > II > IV

II > III > I > IV

https://dl.doubtnut.com/l/_q1paRi0PzjiO
https://dl.doubtnut.com/l/_vWhaZV908DvH


9. In the labelled N-atoms which is correct basic strength order: 

A. 

B. 

C. 

D. All are equally basic

Answer: A

Watch Video Solution

2 > 1 > 3

3 > 1 > 2

2 > 3 > 1

https://dl.doubtnut.com/l/_vWhaZV908DvH
https://dl.doubtnut.com/l/_rw1WNR4Eb5y2


10. Choose the strongest base among the following:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_rw1WNR4Eb5y2


11. Select the basic strength order of following molecules ? 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

III > II > I

II > III > I

I > III > II

III > I > II

12. Which is the weakest base among the followings ?

A. 

https://dl.doubtnut.com/l/_XF3FZyxHEqqu
https://dl.doubtnut.com/l/_Xjh6pFdyO0sl


B. 

C. 

D. 

Answer: D

Watch Video Solution

13. Write the order of  values of following acids : 


A. 

Ka1

II > III > I

https://dl.doubtnut.com/l/_Xjh6pFdyO0sl
https://dl.doubtnut.com/l/_6XI4TlO3D00D


B. 

C. 

D. 

Answer: A

Watch Video Solution

I > III > II

III > II > I

II > I > III

14. The acid strength order is : 

A. 

B. 

C. 

D. 

Answer: D

I > IV > II > III

III > I > II > IV

II > III > I > IV

I > III > II > IV

https://dl.doubtnut.com/l/_6XI4TlO3D00D
https://dl.doubtnut.com/l/_lsUu52MjCuAX


Watch Video Solution

15. (X)  are a dihalosubstituted benzoic acids. The

strongest acid among all isomers is -

A. 

B. 

C. 

D. 

(C6H3CIBrCOOH)

https://dl.doubtnut.com/l/_lsUu52MjCuAX
https://dl.doubtnut.com/l/_OAN4y7BbqXLR


Answer: B

Watch Video Solution

16. The order of acidity of the H-atoms underlined in the following

compounds is in the order: 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

IV > II > I > III

II > IV > III > I

III > IV > I > II

I > III > II > IV

17. Most acidic hydrogen is present in

https://dl.doubtnut.com/l/_OAN4y7BbqXLR
https://dl.doubtnut.com/l/_7a8OMRVIRDx6
https://dl.doubtnut.com/l/_TZ4To2Grjz31


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(CH3CO)3CH

(CH3)3COH

18. The correct orders are:

A. 

B. 

C.  basicity order

https://dl.doubtnut.com/l/_TZ4To2Grjz31
https://dl.doubtnut.com/l/_vRTwU66UKpAM


D.  acidity order

Answer: A::B

Watch Video Solution

19. Observe the following sequence of reactions : 

 


Select the correct option regarding the relative basic strength :

A. 

B. 

C. 

(Kb)

CH3 − C
∣ ∣

NH

− NH2 > CH3NH2

https://dl.doubtnut.com/l/_vRTwU66UKpAM
https://dl.doubtnut.com/l/_0Vd9ky811e2p


D. 

Answer: C

Watch Video Solution

20. Order of  which can be predicted by following reaction is: 


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Ka

NH3 > Ph3CH > C2H2 > H2O

H2O > HC ≡ CH > Ph3CH > NH3

HC ≡ CH > H2O > H2O > Ph3CH > NH3

Ph3CH > HC ≡ CH > H2O > NH3

https://dl.doubtnut.com/l/_0Vd9ky811e2p
https://dl.doubtnut.com/l/_J3hKEON0dYP9


21. The gases produced in the following reactions are respectively 

 


 


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

I :CH3NH2 + NH2Br →

II :CH3SO3H + NaHCO3 →

III :CH3 − C
∣ ∣

O

− NH2 + NaH →

NH3, NH3, CO2

NH3, SO2, H2

NH3, CO2, H2

NH3, SO2, NH3

22. Decreasing order of enol content of the following compounds in

liquid phase 

https://dl.doubtnut.com/l/_J3hKEON0dYP9
https://dl.doubtnut.com/l/_3ZOQnX4UpeCw
https://dl.doubtnut.com/l/_J5ztyduuXKX5


Part-II: Single And Double Value Integer Type

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2 > 1 > 3 > 4

1 > 2 > 3 > 4

4 > 3 > 2 > 1

3 > 1 > 2 > 4

1. Which of the following carbocation can not undergo rearrangement ?

Watch Video Solution

https://dl.doubtnut.com/l/_J5ztyduuXKX5
https://dl.doubtnut.com/l/_264B9fgmrSgZ


2. Consider following compound, which H-atom deprotonated first ? 

Watch Video Solution

https://dl.doubtnut.com/l/_lAqI92eSqbMo


3. How many of the followign are correct orders for Basic Strength : 

Watch Video Solution

https://dl.doubtnut.com/l/_d4HDc4q0s9JF


4. How many compounds are less basic than aniline. 

Watch Video Solution

https://dl.doubtnut.com/l/_skjtOGWrCBXT


5. How many of the following compounds give  on reaction with 

 


Watch Video Solution

CO2

NaHCO3

6. How many of the following are more acidic than . 


Watch Video Solution

HCOOH

7. 90 g of acetic acid react with excess of  then what volume of 

 will produce at S.T.P. Write your answer in terms of nearest integer.

NaHCO3

CO2

https://dl.doubtnut.com/l/_JjpAzyjEuTOt
https://dl.doubtnut.com/l/_jquseI3hVN0V
https://dl.doubtnut.com/l/_oNzOmv15pR0S


Watch Video Solution

8. In how many of the following pairs will have higher enol content than

second. 

Watch Video Solution

9. Consider the following compound and write number of enolizable H-

atom 

https://dl.doubtnut.com/l/_oNzOmv15pR0S
https://dl.doubtnut.com/l/_ysli4tiSxgKx
https://dl.doubtnut.com/l/_iKhVNMehnOmm


Part-III: One or More Than One Options Correct Type

Watch Video Solution

1. Which of the following stability order of anions is/are correct :

A. 

B. 

https://dl.doubtnut.com/l/_iKhVNMehnOmm
https://dl.doubtnut.com/l/_FzjzrrGf4Y6Z


C. 

D. 

Answer: A::B::C::D

Watch Video Solution

Ө

CH3
I

>
Ө

CD3
II

     I > II

2. Which of the following is/are correct for basic strength:

A. 

B. 

C. 

D. 

Answer: B::C::D

Watch Video Solution

(CH3)2NH > (CH3)3N > CH3NH2 > NH3

(C2H5)3N > (C2H5)2NH > C2H5NH2 > NH3

PhNH2 > Ph2NH > Ph3N

https://dl.doubtnut.com/l/_FzjzrrGf4Y6Z
https://dl.doubtnut.com/l/_4CpMryCjHS9E
https://dl.doubtnut.com/l/_K39Z97SCNu0l


3.  


Among the following which statement(s) is/are correct:

A. Both N of pyrimidine are same basic strength

B. In imidazole protonation take places on N-3

C. In purine only one lone pair of N is delocalised.

D. Pyrimidine, imidazole and purine all are aromatic.

Answer: A::B::C::D

Watch Video Solution

4. Consider the following compounds 

Which statement is/are correct :

O2N − CH2 −

O

∣ ∣

C
( I )

− OH    F − CH2 −

O

∣ ∣

C
( II )

− OH     Ph − CH2 −

O

∣ ∣

C
( III

https://dl.doubtnut.com/l/_K39Z97SCNu0l
https://dl.doubtnut.com/l/_v5DJEOIhljFl


A.  (Acidic strength order)

B. I is most acidic because of -M effect of  group

C. I is most acidic because of -I effect of  group

D. IV is least acidic because of  Effect.

Answer: A::C::D

Watch Video Solution

I > II > III > IV

−NO2

−NO2

+I

5. Carbolic acid is less acidic than:

A. (A)

B. 

C. 

D. 

CH3COOH

https://dl.doubtnut.com/l/_v5DJEOIhljFl
https://dl.doubtnut.com/l/_wn9Jj7tKyRjn


Answer: A::C::D

Watch Video Solution

6.  


Observe the compound and choose correct statement:

A. It has carboxylic acid group

B. It is Ascorbic acid

C.  is most acidic Hydrogen atom

D.  is least acidic Hydrogen atom

Answer: B::C

Hb

Ha

https://dl.doubtnut.com/l/_wn9Jj7tKyRjn
https://dl.doubtnut.com/l/_pc2LfKQvZwIX


Watch Video Solution

7. Which of the following reactions favour backward direction ?

A. 

B. 

C. 

D. 

Answer: B::D

Watch Video Solution

8. The correct statement(s) concerning the structure P,Q,R & S is/are 

A. Q & S are not resonating structures

https://dl.doubtnut.com/l/_pc2LfKQvZwIX
https://dl.doubtnut.com/l/_r2C6EaG1mN49
https://dl.doubtnut.com/l/_W9wI9t5AvPHv


B. R & S are resonating structures

C. P & R are tautomers

D. P & Q are resonating structures

Answer: A::B::C::D

Watch Video Solution

9. Among the given pairs, in which pair second compound has less enol

content:

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_W9wI9t5AvPHv
https://dl.doubtnut.com/l/_NnNFPjvm9ujw


Part-IV : Comprehension

Answer: A::C::D

Watch Video Solution

1. Reaction intermdiates are short lived species and are highly reactive.

They are formed by heterolytic and homolytic bond fission. There are

various types of reaction intermediates in which the most important are

carbocation , carbanion and free radical. 

Carbocation is an organic species in which carbon have positive charge

and six electrons in its outermost shell. The stability of carbocation can

be increased by positive inductive effect, hyperconjugation and

delocalisation. If -atom with respect to carbocation has one or more

lone pair of electron then lone pair of electron strongly stabilises the

carbocation due to octet completion. 

Species in which carbon have negative charge is called carbanion.

Carbanion carries three bond pairs and one lone pair. The stability of

α

https://dl.doubtnut.com/l/_NnNFPjvm9ujw
https://dl.doubtnut.com/l/_k2uom1cslw9q


carbanion can be increased by negative inductive effect, negative

mesomeric effect and delocalisation. 

Free radical is a species which have seven electrons in its outermost shell.

The stability of free radical can be increased by hyperconjugation and

delocalisation. 

Which of the following is the most stable carbanion intermediate ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_k2uom1cslw9q


2. Reaction intermdiates are short lived species and are highly reactive.

They are formed by heterolytic and homolytic bond fission. There are

various types of reaction intermediates in which the most important are

carbocation , carbanion and free radical. 

Carbocation is an organic species in which carbon have positive charge

and six electrons in its outermost shell. The stability of carbocation can

be increased by positive inductive effect, hyperconjugation and

delocalisation. If -atom with respect to carbocation has one or more

lone pair of electron then lone pair of electron strongly stabilises the

carbocation due to octet completion. 

Species in which carbon have negative charge is called carbanion.

Carbanion carries three bond pairs and one lone pair. The stability of

carbanion can be increased by negative inductive effect, negative

mesomeric effect and delocalisation. 

Free radical is a species which have seven electrons in its outermost shell.

The stability of free radical can be increased by hyperconjugation and

delocalisation. 

α

https://dl.doubtnut.com/l/_SEp2MEft1UlP


The stability order of following free radicals is: 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C6H5C
I
H2

⋅
CH2    CH3C

II
H2

⋅
CH2    C6H5

      III

⋅
CH2      CH ⋅

3
IV

I > II > III > IV

II > III > I > IV

I > III > II > IV

III > II > I > IV

3. Reaction intermdiates are short lived species and are highly reactive.

They are formed by heterolytic and homolytic bond fission. There are

various types of reaction intermediates in which the most important are

carbocation , carbanion and free radical. 

Carbocation is an organic species in which carbon have positive charge

and six electrons in its outermost shell. The stability of carbocation can

be increased by positive inductive effect, hyperconjugation and

https://dl.doubtnut.com/l/_SEp2MEft1UlP
https://dl.doubtnut.com/l/_e2rZ62uvYFSX


delocalisation. If -atom with respect to carbocation has one or more

lone pair of electron then lone pair of electron strongly stabilises the

carbocation due to octet completion. 

Species in which carbon have negative charge is called carbanion.

Carbanion carries three bond pairs and one lone pair. The stability of

carbanion can be increased by negative inductive effect, negative

mesomeric effect and delocalisation. 

Free radical is a species which have seven electrons in its outermost shell.

The stability of free radical can be increased by hyperconjugation and

delocalisation. 

The stability order of following carbocations is 

A. 

B. 

C. 

D. 

α

I > II > III

II > I > III

III > I > II

II > III > I

https://dl.doubtnut.com/l/_e2rZ62uvYFSX


Answer: A

Watch Video Solution

4. Ortho effect is special type of effect that is shown by o-subsituents

.This ortho-effect operates at the benzoic acids irrespective of the polar

type. Nearly all o-substituted benzoic acid are stronger than benzoic acid.

Benzoic acid is a resonance stabilised and so the carboxyl group is

coplaner with the ring. An o-subsituent tends to prevent this coplanarity. 

What is the order of  of following compounds ? 


A. 

B. 

C. 

D. 

Ka

I > II > III > IV > V

II > I > III > IV > V

V > V I > III > I > II

III > II > I > V > IV

https://dl.doubtnut.com/l/_e2rZ62uvYFSX
https://dl.doubtnut.com/l/_DklwI8A897bC


Answer: A

Watch Video Solution

5. Ortho effect is special type of effect that is shown by o-subsituents

.This ortho-effect operates at the benzoic acids irrespective of the polar

type. Nearly all o-substituted benzoic acid are stronger than benzoic acid.

Benzoic acid is a resonance stabilised and so the carboxyl group is

coplaner with the ring. An o-subsituent tends to prevent this coplanarity. 

Which among the following will be the strongest acid ? 

A. I

B. II

C. III

D. IV

https://dl.doubtnut.com/l/_DklwI8A897bC
https://dl.doubtnut.com/l/_BgCfompUkftm


Answer: C

Watch Video Solution

6. Ortho effect is special type of effect that is shown by o-subsituents

.This ortho-effect operates at the benzoic acids irrespective of the polar

type. Nearly all o-substituted benzoic acid are stronger than benzoic acid.

Benzoic acid is a resonance stabilised and so the carboxyl group is

coplaner with the ring. An o-subsituent tends to prevent this coplanarity. 

Which among the following will be the strongest acid ? 

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_BgCfompUkftm
https://dl.doubtnut.com/l/_Lu9hk0ZtokTI


Answer: B

Watch Video Solution

7. The lone pair of amines makes them basic. They react with acids to form

acid-base salts. Amines are more basic than alcohols, ethers and water.

When an amine is dissolved in water, an equilibrium is established , where

water acts as an acid and transfer a proton to the amine. The basic

strength of an amine can be measured by basicity constant . 


Arylamines are less basic than alkylamines because the lone pair of

nitrogen is delocalised with the aromatic ring and are less available for

donation. 

Substituted arylamines can be either more basic or less basic than aniline

, depending on the substituted . ERG substituents, such as

 increases the basicity and EWG

substituents , such as  decreases basicity.

While  hybridized nitrogen atom in pyridine is less basic then the 

 -hybridized nitrogen in an alkylamine. 

Kb

−CH3, − NH2 and − OCH3

−Cl, − NO2 and − CN

sp2 −

sp3

https://dl.doubtnut.com/l/_Lu9hk0ZtokTI
https://dl.doubtnut.com/l/_BUNg1Yjv6Fcv


 order of the following compound is : 


(I) 

A. 

B. Pyridine 

C. p-Methyl aniline  p-Chloroaniline  p-Amino acetophenone

D. p-Bromoaniline  p-Nitroaniline  p-Amino benzaldehyde

Answer: C

Watch Video Solution

pKb

NH2OH      (II)NH2NH2     (III)NH3       (IV )H2O

CH3NH2 > NaOH

> CH3 − NH − CH3

> >

> >

8. The lone pair of amines makes them basic. They react with acids to

form acid-base salts. Amines are more basic than alcohols, ethers and

water. When an amine is dissolved in water, an equilibrium is established ,

where water acts as an acid and transfer a proton to the amine. The basic

strength of an amine can be measured by basicity constant . 


Arylamines are less basic than alkylamines because the lone pair of

nitrogen is delocalised with the aromatic ring and are less available for

Kb

https://dl.doubtnut.com/l/_BUNg1Yjv6Fcv
https://dl.doubtnut.com/l/_2jfI3erWI0Q7


donation. 

Substituted arylamines can be either more basic or less basic than aniline

, depending on the substituted . ERG substituents, such as

 increases the basicity and EWG

substituents , such as  decreases basicity.

While  hybridized nitrogen atom in pyridine is less basic then the 

 -hybridized nitrogen in an alkylamine. 

 order of the following compound is : 


(I) 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−CH3, − NH2 and − OCH3

−Cl, − NO2 and − CN

sp2 −

sp3

pKb

NH2OH      (II)NH2NH2     (III)NH3       (IV )H2O

IV > I > II > III

III > II > I > IV

I > IV > II > III

III > I > II > IV

https://dl.doubtnut.com/l/_2jfI3erWI0Q7


9. The lone pair of amines makes them basic. They react with acids to

form acid-base salts. Amines are more basic than alcohols, ethers and

water. When an amine is dissolved in water, an equilibrium is established ,

where water acts as an acid and transfer a proton to the amine. The basic

strength of an amine can be measured by basicity constant . 


Arylamines are less basic than alkylamines because the lone pair of

nitrogen is delocalised with the aromatic ring and are less available for

donation. 

Substituted arylamines can be either more basic or less basic than aniline

, depending on the substituted . ERG substituents, such as

 increases the basicity and EWG

substituents , such as  decreases basicity.

While  hybridized nitrogen atom in pyridine is less basic then the 

 -hybridized nitrogen in an alkylamine. 

The most basic carbanion is :

A. 

Kb

−CH3, − NH2 and − OCH3

−Cl, − NO2 and − CN

sp2 −

sp3

https://dl.doubtnut.com/l/_5NJfmzO8RCjU


B. 

C. 

D. 

Answer: D

Watch Video Solution

CH ≡
Θ

C

10. Observe the following reaction and answer the following questions : 

 


The product 'R' is :

A. Ph − C
∣

OH

= C = C
∣

OH

− H

https://dl.doubtnut.com/l/_5NJfmzO8RCjU
https://dl.doubtnut.com/l/_WUv76s9yHCFK


B. 

C. 

D. 

Answer: D

Watch Video Solution

Ph − C
∣ ∣

O

− CH = C
∣

OH

− OH

Ph − C
∣ ∣

O

− CH = C
∣

OH

− H

Ph − C
∣

OH

= CH − C
∣ ∣

O

− H

11. Observe the following reaction and answer the following questions : 

 


The structure of  is :

A. 

B. 

C. 

Q1

Ph − C
∣

OӨ

= CH − C
∣ ∣

O

− H

Ph − C
∣

OӨ

= C = C
∣

OӨ

− H

Ph − C
∣ ∣

O

− CH = C
∣

OӨ

− H

https://dl.doubtnut.com/l/_WUv76s9yHCFK
https://dl.doubtnut.com/l/_RjQrF8TiBCTX


D. 

Answer: C

Watch Video Solution

Ph − −
∣ ∣

O

Ө

CH − C
∣ ∣

O

− H

12. Answer questions 1, 2 and 3 by appropriately matching the

information given in the three columns of the following table.

A. (III) (iii)(P)

B. (II)(ii)(R)

C. (IV)(iv)(Q)

D. (I)(iii)(P)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_RjQrF8TiBCTX
https://dl.doubtnut.com/l/_DIhmKmE48byG


Exercise-3 Part:I JEE(Advanced)/IIT-JEE Problems (Previous Years)

Watch Video Solution

1. Which of the following acids has the smallest value of dissociation

constant?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3CHFCOOH

FCH2CH2COOH

BrCH2CH2COOH

CH3CHBrCOOH

https://dl.doubtnut.com/l/_DIhmKmE48byG
https://dl.doubtnut.com/l/_UsAHdNkkbctW


2. Match the  values: 


Watch Video Solution

Ka

3. Compound  of molecular formula  exists in ketoform

and predominantly in enolic form . On oxidation with , 

gives m-chlorobenzoic acid. Identify  and .

Watch Video Solution

(A) C9H7O2Cl

(B) KMnO4 (A)

(A) (B)

https://dl.doubtnut.com/l/_3kIUBIMtUqZW
https://dl.doubtnut.com/l/_cKX1Yxjvi4W2


4.  . The

product A will be-

A. 

B. 

C. 

D. 

Answer: A

https://dl.doubtnut.com/l/_h7wy8kHkPYSY


Watch Video Solution

5. What is the acidity order of x,y & z ? 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x > y > z

x > z > y

y > z > x

z > y > x

https://dl.doubtnut.com/l/_h7wy8kHkPYSY
https://dl.doubtnut.com/l/_BEaVu58bT8qr


6. Which one of the following two compounds is the stronger acid ?

Explain why? 

Watch Video Solution

7.  


The products will be :

A. 

https://dl.doubtnut.com/l/_xPKbMlRcGVgD
https://dl.doubtnut.com/l/_a1MzgvZBXv7w


B. 

C. 

D. 

Answer: B

Watch Video Solution

8.  


Benzenesulphonic acid and para nitrophenol react with 

separately. The gases produced are respectively.

A. 

B. 

C. 

D. 

NaHCO3

SO2, CO2

SO2, CO

SO2, NO2

CO2, CO2

https://dl.doubtnut.com/l/_a1MzgvZBXv7w
https://dl.doubtnut.com/l/_zFE8kGxG8AOA


Answer: D

Watch Video Solution

9. The correct stability order for the following species is : 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(II) > (IV ) > (I) > (III)

(I) > (II) > (III) > (IV )

(II) > (I) > (IV ) > (III)

(I) > (III) > (II) > (IV )

https://dl.doubtnut.com/l/_zFE8kGxG8AOA
https://dl.doubtnut.com/l/_JFqhBOXzBpry


10. The correct acidity order of the following is : 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(III) > (IV ) > (II) > (I)

(IV ) > (III) > (I) > (II)

(III) > (II) > (I) > (IV )

(II) > (III) > (IV ) > (I)

11. In the following carbocation,  that is most likely to migrate to

the positively charged carbon is 

H /CH3

https://dl.doubtnut.com/l/_jI2Qu3qIDpNC
https://dl.doubtnut.com/l/_Manyv4bvOhDA


A.  at C-4

B. H at C-4

C.  at C-2

D. H at C-2

Answer: D

Watch Video Solution

CH3

CH3

https://dl.doubtnut.com/l/_Manyv4bvOhDA


12. The total number of basic groups in the following form of lysine is : 

.

Watch Video Solution

13. Among the following compounds the most acidic is

A. p-nitrophenol

B. p-hydroxybenzoic acid

C. o-hydroxybenzoic acid

D. p-toluic acid

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_G6sW4cEmT632
https://dl.doubtnut.com/l/_C6MuSsKrjMX2


14. The carboxyl functional group  is present in:

A. picric acid

B. barbituric acid

C. ascorbic acid

D. aspirin

Answer: D

Watch Video Solution

( − COOH)

15. The compound that does not liberate  on treatment with

aqueous sodium bicarbonate solution , is

A. Benzoic acid

B. Benzenesulphonic acid

C. Salicylic acid

D. Carbolic acid (Phenol)

CO2

https://dl.doubtnut.com/l/_ly4KzkTHsouE
https://dl.doubtnut.com/l/_iL5EQEnxUSbm


Answer: D

Watch Video Solution

16. The correct order of acidity for the following compounds is 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

I > II > III > IV

III > I > II > IV

III > IV > II > I

I > III > IV > II

https://dl.doubtnut.com/l/_iL5EQEnxUSbm
https://dl.doubtnut.com/l/_QOccz98OrXef


Exercise-3 Part:II JEE(MAIN)/AIEEE PROBLEMS (PREVIOUS YEARS)

17. The order of basicity among the following compounds is 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

II > I > IV > III

I > IV > III > II

IV > II > III > I

IV > I > II > III

1. The correct order of increasing basic nature for the bases

 is :

A. 

NH3. NH2 and (CH3)2NH

CH3NH2 < NH3 < (CH3)2NH

https://dl.doubtnut.com/l/_rXUlaAGUCnZo
https://dl.doubtnut.com/l/_2U7c3pEYJUhe


B. 

C. 

D. 

Answer: C

Watch Video Solution

(CH3)2NH < NH3 < CH3NH2

NH3 < CH3NH2 < (CH3)2NH

CH3NH2 < (CH3)2NH < NH3

2. Which of the following is the strongest base ?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_2U7c3pEYJUhe
https://dl.doubtnut.com/l/_8SsZLofCxZVd


D. 

Answer: D

Watch Video Solution

3. Consider the acidity of the carboxylic acids : 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(i)PHCOOH     (ii)o − NO2C6H4COOH    (iii)p − NO2C6H4COOH

i > ii > iii > iv

ii > iii > iv > i

iii > ii > iv > i

ii > iv > iii > i

https://dl.doubtnut.com/l/_8SsZLofCxZVd
https://dl.doubtnut.com/l/_cjTf0MiBiPxe
https://dl.doubtnut.com/l/_XEazuGnjs2u0


4. Among the following acids which has the lowest  value-

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

pka

CH3CH3OH

(CH3)2CH − COOH

HCOOH

CH3COOH

5. Amongest the following the most basic compounds is-

A. p-Nitroaniline

B. Acetanilide

C. Aniline

D. Benzylamine

https://dl.doubtnut.com/l/_XEazuGnjs2u0
https://dl.doubtnut.com/l/_OhVu32ispqTy


Answer: D

Watch Video Solution

6. The increasing order of stability of the following free radicals is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(CH3)2

⋅
CH < (CH3)3

⋅
< (C6H5)2

⋅
CH < (C6H5)3

⋅
C

(C6H5)2

⋅
C < (C6H5)2

⋅
CH < (CH3)3

⋅
C < (CH3)2

⋅
CH

(C6H5)2H
⋅
C < (C6H5)3 < (CH3)3

⋅
C < (CH3)2

⋅
CH

(CH3)2H
⋅
C < (CH3)3

⋅
C < (C6H5)3

⋅
C < (C6H5)2

⋅
CH

7. The correct order of increasing acid strength of the compounds is 

(a).  


(b).  


CH3CO2H

MeOCH2CO2H

https://dl.doubtnut.com/l/_OhVu32ispqTy
https://dl.doubtnut.com/l/_5L8v1W4uBW3J
https://dl.doubtnut.com/l/_LrAZMmvN5uA3


(c)  


(d) 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CF3CO2H

b < d < a < c

d < a < c < d

d < a < b < c

a < d < c < b

8. Which one of the following is the strongest base in aqueous solution ?

A. Dimethylamine

B. Methylamine

https://dl.doubtnut.com/l/_LrAZMmvN5uA3
https://dl.doubtnut.com/l/_NIhAwqw6Ugdy


C. Trimethylamine

D. Aniline

Answer: A

Watch Video Solution

9. Arange the carbanions, , in

order of their decreasing stability

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(CH3)3

¯

C,
¯

CCl3, (CH3)2

¯

CH, C6H5

¯

CH2

(CH3)2
¯̄̄CH > ¯̄̄CCl3 > C6H5

¯̄̄CH2 > (CH3)3
¯̄̄C

¯̄̄CCl3 > C6H5
¯̄̄CH2 > (CH3)2

¯̄̄CH > (CH3)3
¯̄̄C

(CH3)3
¯̄̄C > (CH3)2

¯̄̄CH > C6H6
¯̄̄CH2 > ¯̄̄CCl3

C6H5
¯̄̄CH2 > ¯̄̄CCl3 < (CH3)3

¯̄̄C > (CH3)2
¯̄̄CN

https://dl.doubtnut.com/l/_NIhAwqw6Ugdy
https://dl.doubtnut.com/l/_ZXieNRY2iyjN
https://dl.doubtnut.com/l/_JLRCv9iupUxy


10. The correct order of increasing basicity of the given conjugate bases

 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(R = CH3)

RCO¯̄̄O < HC ≡ ¯̄̄C < ¯̄̄N̄ H2

¯̄̄R < HC ≡ RCO¯̄̄O < ¯̄̄N̄ H2

RCO¯̄̄O < ¯̄̄N̄ H2 < HC ≡ ¯̄̄C < ¯̄̄R

RCO¯̄̄O < HC ≡ ¯̄̄C < ¯̄̄N̄ H2 < ¯̄̄R

11. The strongest acid amongst the following compounds is?

A. 

B. 

C. 

D. 

CH3COOH

HCOOH

CH3CH2CH(Cl)CO2H

ClCH2CH2CH2COOH

https://dl.doubtnut.com/l/_JLRCv9iupUxy
https://dl.doubtnut.com/l/_xpYbwmxsC3ff


Answer: C

Watch Video Solution

12. Identify the compound that exhibits tautomerism:


2-butene


lactic acid


2-pentanone


phenol

A. 2-Butene

B. Lactic acid

C. 2-Pentanone

D. Phenol

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_xpYbwmxsC3ff
https://dl.doubtnut.com/l/_WrriU8zLRa4i
https://dl.doubtnut.com/l/_7u2w8mKBEaKc


13. The correct order of acid strength of the following compounds:

A. Phenol

B. p-Cresol

C. m-Nitrophenol

D. p-Nitrophenol

Answer: A

Watch Video Solution

14. Arrange the following in decreasing order of acidic nature of 

A. 

B. 

C. 

II > IV > I > III

I > II > III > IV

III > I > II > IV

https://dl.doubtnut.com/l/_7u2w8mKBEaKc
https://dl.doubtnut.com/l/_BhLqWBCLCqN9


D. 

Answer: C

Watch Video Solution

IV > III > I > II

15. The order of stability of the following carbocations: 

A. 

B. 

C. 

D. 

Answer: D

III > II > I

II > III > I

I > II > III

III > I > II

https://dl.doubtnut.com/l/_BhLqWBCLCqN9
https://dl.doubtnut.com/l/_yX8qTzRjrM70


Watch Video Solution

16. Considering the basic strength of amines in aqueous solution, which

one has the smallest  value ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

pKb

(CH3)2Nh

CH3NH2

(CH3)3N

C6H5NH2

https://dl.doubtnut.com/l/_yX8qTzRjrM70
https://dl.doubtnut.com/l/_HB9Xib7Fmsn9


17. The increasing order of basicity of the following compounds is 

A. 

B. 

(b) < (a) < (d) < (c)

(d) < (b) < (a) < (c)

https://dl.doubtnut.com/l/_xyBMrnvdNUKp


C. 

D. 

Answer: A

Watch Video Solution

(a) < (b) < (c) < (d)

(b) < (a) < (c) < (d)

18. The predominant form of histamine present in human blood is (  ,

Histidine=6.0)

A. 

B. 

C. 

D. 

pKa

https://dl.doubtnut.com/l/_xyBMrnvdNUKp
https://dl.doubtnut.com/l/_yig7v5kMRIIA


Exercise-3 Part:II JEE(MAIN) ONLINE PROBLEMS

Answer: B

Watch Video Solution

1. In which of the following pairs A is more stable than B?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Ph3C
⋅ , (CH3)C ⋅

https://dl.doubtnut.com/l/_yig7v5kMRIIA
https://dl.doubtnut.com/l/_DI9ogML2hgkX
https://dl.doubtnut.com/l/_ZBhpe0N6155c


2. Which one of the following statements is not correct ?

A. Alcohols are weaker acids than water.

B. Acid strength of alcohols decreases in the following order

C. Carbon-oxygen bond length in methanol ,  is shorter than

that of C-O bond length in phenol.

D. 

Answer: C

Watch Video Solution

RCH2OH > R2CHOH > R3COH

CH3OH

3. Which one of the following substituents at para-position is most

effective in stabilizing the phenoixde

https://dl.doubtnut.com/l/_ZBhpe0N6155c
https://dl.doubtnut.com/l/_5I6ifka59uUg


 , ion ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−CH3

−OCH3

−COCH3

−CH2OH

4. Which of the following will not be soluble in sodium hydrogen

carbonate?

A. 2,4,6-Trinitrophenol

B. Benzoic acid

https://dl.doubtnut.com/l/_5I6ifka59uUg
https://dl.doubtnut.com/l/_IkcG5TmIxHlT


C. o-Nitrophenol

D. Benzene sulphonic acid

Answer: C

Watch Video Solution

5. Arrange the following amines in the order of increasing basicity :-

A. 

B. 

C. 

D. 

Answer: D

W t h Vid S l ti

https://dl.doubtnut.com/l/_IkcG5TmIxHlT
https://dl.doubtnut.com/l/_AJjmIIwmGKr0


Watch Video Solution

6. The ''N'' which contribute least to the basicity for the compound is : 

A. N 7

B. N 1

C. N 9

D. N 3

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_AJjmIIwmGKr0
https://dl.doubtnut.com/l/_1koATypryZit


7. Among the following compounds, the increasing order of their basic

strength is- 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(I)g < (II) < (III) < (IV )

(I) < (II) < (IV ) < (III)

(II) < (I) < (III) < (IV )

(II) < (I( < (IV ) < (III)

https://dl.doubtnut.com/l/_1koATypryZit
https://dl.doubtnut.com/l/_uQdKSlzxtbId


8. The inceasing order of the acidity of the following carboxylic acids is : 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

I < III < II < IV

IV < II < III < I

II < IV < III < I

III < II < IV < I

9. Which amongst the following is the strongest acid ?

https://dl.doubtnut.com/l/_MmZDNemGTBHP
https://dl.doubtnut.com/l/_gpl0hNl4uKtC


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CHBr3

CHCl3

CHl3

CH(CN)3

10. The correct decreasing order for acid strength is :

A. 

B. 

C. 

CHCH2COOH > O2NCH2COOH < FCH2COOH < ClCH2COO

FCH2COOH > NCCH > NO2CH2COOH > ClCH2COOH

NO2CH2COOH > NCCH2COOH > FCH2COOH > ClCH2COO

https://dl.doubtnut.com/l/_gpl0hNl4uKtC
https://dl.doubtnut.com/l/_UUT0OC2PdvWj


D. 

Answer: C

Watch Video Solution

NO2CH2COOH > FCH2COOH > CNCH2COOH > ClCH2COO

11. Arrange the follwing amines in the decreasing order of basicity : 

A. 

B. 

C. 

I > III > II

III > I > II

III > II > I

https://dl.doubtnut.com/l/_UUT0OC2PdvWj
https://dl.doubtnut.com/l/_oagYqkch2uHE


D. 

Answer: B

Watch Video Solution

I > II > III

12. The increasing basicity order of the following compounds is: 

(A)  


(B)  


(C)  


(D) 

A. 

B. 

C. 

D. 

CH3CH2NH2

CH3CH2

CH2CH3

∣

N H

H3C −

CH3

∣

N − CH3

Ph −

CH3

∣

N − H

(A) < (B) < (C) < (D)

(D) < (C) < (B) < (A)

(A) < (B) < (D) < (C)

(D) < (C) < (A) < (B)

https://dl.doubtnut.com/l/_oagYqkch2uHE
https://dl.doubtnut.com/l/_jmtuSwFWiGpQ


Answer: D

Watch Video Solution

13. The increasing order of the  values of the following compounds is 


A. 

B. 

C. 

D. 

Answer: C

pKa

C < B < A < D

B < C < D < A

B < C < A < D

D < A < C < B

https://dl.doubtnut.com/l/_jmtuSwFWiGpQ
https://dl.doubtnut.com/l/_IpWlTNZjKkVg


Watch Video Solution

14. Which of the following compounds will produce a precipitate with

 ?

A. 

B. 

C. 

D. 

aGno3

https://dl.doubtnut.com/l/_IpWlTNZjKkVg
https://dl.doubtnut.com/l/_xSq1WT0PpzYu


Answer: B

Watch Video Solution

15. In the following compound, 

 


The favourable site/s for protonation is/are:

A. a and e

B. a and d

C. b ,c and d

https://dl.doubtnut.com/l/_xSq1WT0PpzYu
https://dl.doubtnut.com/l/_4kjMIYlVZimx


(APSP) Part-I:Practice Test-1

D. a

Answer: C

Watch Video Solution

16. The correct order for acid strength of compounds 

 


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH ≡ CH, CH3 − C ≡ CH and CH2 = CH2

CH3 − C = CH > CH = CH > CH2

CH3 − C ≡ Ch > CH2 = CH2 > HC = CH

HC = CH > CH3 − C = CH > CH2 = CH2

CH = CH > CH2 = CH2 > CH3 − C = CH

https://dl.doubtnut.com/l/_4kjMIYlVZimx
https://dl.doubtnut.com/l/_rsXOX9015UCA


1. Which of the following would produce effervescence with sodium

bicarbonate ?

A. 

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

2. Select correct statement from the following:

https://dl.doubtnut.com/l/_BGQydDzA3bON
https://dl.doubtnut.com/l/_TUQUxEd7dQRZ


A. 

B. 

C.  is more acidic than 

D. 

Answer: C

Watch Video Solution

HC ≡ CH NH3

3. Arrange the following compounds in order of decreasing acidity: 

A. 

B. 

(i) > (ii) > (iii) > (iv)

(iii) > (i) > (ii) > (iv)

https://dl.doubtnut.com/l/_TUQUxEd7dQRZ
https://dl.doubtnut.com/l/_hMJmbUyfS1jf


C. 

D. 

Answer: B

Watch Video Solution

(iv) > (iii) > (i) > (ii)

(ii) > (iv) > (i) > (iii)

4. The order of decreasing basicity in the four halide ions is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

I − > Br− > Cl− > F −

Cl− > Br− > I − > F −

F − > Cl− > Br− > I −

Cl− > F − > Br− > I −

https://dl.doubtnut.com/l/_hMJmbUyfS1jf
https://dl.doubtnut.com/l/_6RF1C51uW0wK


5. Correct order of acidic strength 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(iv) > (i) > (ii) > (iii)

(iv) > (iii) > (ii) > (i)

(iv) > (ii) > (iii) > (i)

(ii) > (iv) > (i) > (iii)

https://dl.doubtnut.com/l/_fa15XGjrU7GI


6. Which of the following is incorrect about the given molecules 

A. The correct order of basic strength  is 

B. The correct order of C-N bond length is 

C. The correct C=C bond length order is 

D. The correct  order is : 

Answer: C

Watch Video Solution

(Kb) a > b > c

: a > b > c

a > b > c

pKb c > b > a

7. Which of the following is the most stabilized carbocation ?

A. 

https://dl.doubtnut.com/l/_A2ljyTxLDjOr
https://dl.doubtnut.com/l/_UBP5mvrTZ2IH


B. 

C. 

D. 

Answer: C

Watch Video Solution

8. Which one among the following is the least basic:

A. 

B. 

C. 

D. 

Answer: D

Ө

CH3

Ө

NH2

Ө

OH

Ө

F

https://dl.doubtnut.com/l/_UBP5mvrTZ2IH
https://dl.doubtnut.com/l/_uJKeaUnZmQuu


Watch Video Solution

9. Which is most basic in aqueous solution ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3NH2

(CH3)2NH

(CH3)3N

Ph − NH2

10. Stability order of given anions is : 

https://dl.doubtnut.com/l/_uJKeaUnZmQuu
https://dl.doubtnut.com/l/_bnR2q8CUsXdT
https://dl.doubtnut.com/l/_wgogzbqlnX6p


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

I > III > II

I > II > III

III > II > I

III > I > II

11. Which is less basic than benzyl

 carbanion ?

https://dl.doubtnut.com/l/_wgogzbqlnX6p
https://dl.doubtnut.com/l/_bHhGYkCxiVM1


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_bHhGYkCxiVM1


12. The decreasing order of acidic strength among trichloroacetic acid (I),

trifluoroacetic acid (II), acetic acid (III) and formic acid (IV) is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

B > A > D > C

B > D > C > A

A > B > C > D

A > C > B > D

13. Consider the following carbanions 

 


Correct order of stability of these carbanions in decreasing order is

A. 

B. 

(i)CH3 −
Ө

CH2    (ii)CH2 =
Ө

CH      (iii)CH ≡
Ө

C

(ii) > (i) > (iii)

(iii) > (ii) > (i)

https://dl.doubtnut.com/l/_qZXBxtxUlyfo
https://dl.doubtnut.com/l/_knIfJGcdkcQv


C. 

D. 

Answer: D

Watch Video Solution

(i) > (iii) > (ii)

(i) > (ii) > (iii)

14. The order of stability of the following carbocations: 

A. 

B. 

C. 

D. 

II > III > I

I > II > III

III > I > II

III > II > I

https://dl.doubtnut.com/l/_knIfJGcdkcQv
https://dl.doubtnut.com/l/_ZceagP89Y0Ov


Answer: C

Watch Video Solution

15. The most stable carbocation is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_ZceagP89Y0Ov
https://dl.doubtnut.com/l/_VcRgFeJbGOCj
https://dl.doubtnut.com/l/_Cdhcmf8LH3fC


16. Pyridine is less basic than triethylamine because

A. Pyridine has aromatic character

B. Nitrogen in pyridine is  hybridised

C. Pyridine is a cyclic system

D. In pyridine, lone pair of nitrogen is delocalised.

Answer: B

Watch Video Solution

sp2

17. Which is the following phenol has lowest  ?

A. 

B. 

pKa

https://dl.doubtnut.com/l/_Cdhcmf8LH3fC
https://dl.doubtnut.com/l/_oYbUaXRTJfZn


C. 

D. 

Answer: D

Watch Video Solution

18. Which is most basic among the followings ?

A. 

B. 

C. 

D. 

Answer: C

Ph − NH2

NH3

CH3 − NH2

C2H5 − CN

https://dl.doubtnut.com/l/_oYbUaXRTJfZn
https://dl.doubtnut.com/l/_TdaGcTtiUVny


Watch Video Solution

19. Assertion:The  of acetic acid is lower than that of phenol.


Reason:Phenoxide ion is more resonance stablised.

A. If both assertion and reason are true and reason is a correct

explanation of assertion.

B. If both assertion and reason are true but reason is not a correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion and reason both are false.

Answer: C

Watch Video Solution

pKa

https://dl.doubtnut.com/l/_TdaGcTtiUVny
https://dl.doubtnut.com/l/_fNP36JauPmX2


20. The order of stability of the following tautomeric compounds is  


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

:

CH2 =

OH

∣

C − CH2 −

O

∣ ∣

C − CH3
I

⇔ CH3 −

O

∣ ∣

C − CH2 −

O

∣ ∣

C − CH3
II

⇔ CH3

III > II > I

II > I > III

II > III > I

I > II > III

https://dl.doubtnut.com/l/_ZMjnKTzB3o5U


21. Observe the following feasible reaction: 

 


Q. Identify the feasible reactions

A. 

B. 

C. 

D. 

Answer: D

CH3COOH + NaCl →

C6H5COOH + KBr →

https://dl.doubtnut.com/l/_Dqwd7nXKkZ0k


Watch Video Solution

22. In which of following carbocation rearragement take place with

change carbon skeleton :

A. 

B. 

C. 

D. 

Answer: A::D

Watch Video Solution

CH3 −

CH3

∣

C
∣

CH3

−
⊕

CH2

CH3 − CH2 −
⊕

CH2

CH3 − C
∣

CH3

H − CH2 −
⊕

CH2

CH3 −

CH3

∣

C
∣

CH3

− CH2 − CH2 −
⊕

CH2

https://dl.doubtnut.com/l/_Dqwd7nXKkZ0k
https://dl.doubtnut.com/l/_0Qr6Q1FF3Wx5


23. Observer the following reaction sequence. 

 


Which is correct acidic strength order :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HC ≡ Ch > CH3COOH > CH3SO3H

CH3SO3H > CH3COOH > HC ≡ CH

CH3SO3H > HC ≡ CH > CH3COOH

CH3COOH > CH3SO3H > HC ≡ CH

24. Most stable carbocation among the following is

https://dl.doubtnut.com/l/_fZVinVtwjqTr
https://dl.doubtnut.com/l/_IbzKYTVMa0Y5


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

25. Select the most basic compound.

https://dl.doubtnut.com/l/_IbzKYTVMa0Y5
https://dl.doubtnut.com/l/_fBC4mQVvg57r


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

26. Which of the following compounds will have highest enolic content?

https://dl.doubtnut.com/l/_fBC4mQVvg57r
https://dl.doubtnut.com/l/_iWTFpQZUdGZg


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3COOCH3

CH3COCH3

CH3 − C
∣ ∣

O

− CH2 − CHO

CH3 − C
∣ ∣

O

− CH2 − C
∣ ∣

O

− OCH3

27. The hydride ion  is stronger base than its hydroxide ion 

Which of the following reaction will occur if sodium hydride (NaH) is

dissolved in wate?

A. 

B. 

C. 

D. 

H − OH −

CH3 − NH2

CH3 − CH2 − O−

F −

Ph − NH2

https://dl.doubtnut.com/l/_iWTFpQZUdGZg
https://dl.doubtnut.com/l/_LSrnG1bVLI00


Answer: B

Watch Video Solution

28. Give the stability order of following radicals : 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

III > IV > II > I

IV > III > II > I

I > II > III > IV

IV > II > III > I

29. The most stable carbanion among the following is

https://dl.doubtnut.com/l/_LSrnG1bVLI00
https://dl.doubtnut.com/l/_imCTLKlC3QX3
https://dl.doubtnut.com/l/_jgy385eH0FJW


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_jgy385eH0FJW
https://dl.doubtnut.com/l/_mUOo3sRbedeW


Part-II: NSEC (Stage-I)

30. Which of the following is the most stabilized carbocation ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_mUOo3sRbedeW


1. Which is the following is the strongest acid ?

A. 3,5-dinitrophenol

B. 2,4-dinitrophenol

C. phenol

D. 2,4,6-trinitrophenol

Answer: D

Watch Video Solution

2. Identify the correct statement regarding effect of Cl atom bonded to

the carbon atom adjacent to a carbocation carbon ?

A. It has no effect on the stability of the carbocation

B. It destabilizes the carbocation

C. It stabilitizes the carbocation

https://dl.doubtnut.com/l/_0R8wTJxSBorT
https://dl.doubtnut.com/l/_KAxHQ2yvXzCm


D. Cannot predict its effect on the carbocation from the given

information.

Answer: B

Watch Video Solution

3. Which of the following is the strongest base ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

HC ≡ C −

CH2 = CH −

CH3CH
−

2

NH −
2

https://dl.doubtnut.com/l/_KAxHQ2yvXzCm
https://dl.doubtnut.com/l/_6QuZB56pQFvb


4. Select the most stable carbocation:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

5. Which of the following orders is true regarding the acidic nature of

phenols ?

A. phenol  o-cresol  nitrophenol> <

https://dl.doubtnut.com/l/_Z9AgMWvt5VGP
https://dl.doubtnut.com/l/_pNJB8mZYi0JN


B. phenol  o-cresol  nitrophenol

C. phenol  o-cresol  nitrophenol

D. phenol  o-cresol  nitrophenol

Answer: A

Watch Video Solution

< <

> >

< >

6. Which of the following order is expected to be correct ?

A. 

B. 

C. 

pKa(ClCH2COOH) > pKa(CH3COOH) < pKa(CH3CH2COOH)

pKa(ClCH2COOH) < pKa(CH3COOH) < pKa(CH3CH2COOH)

pKa(ClCH2COOH) > pKa(CH3COOH) > pKa(CH3CH2COOH)

https://dl.doubtnut.com/l/_pNJB8mZYi0JN
https://dl.doubtnut.com/l/_Bq4AUcMftPBx


D. 

Answer: B

Watch Video Solution

pKa(ClCH2COOH) < pKa(CH3COOH) > pKa(CH3CH2COOH)

7. Arrange the following in the order of increasing stability: 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

PhC +H2, Ph3C
+ , Me+ , Ph2C

+H

Me+ < PhC +He < Ph2C
+H < Ph3C

+

PhC +H2 < Me+ < Ph3C
+ < Ph2C

+H

PhC +H2 < Ph3C
+ < Me+ < Ph2C

+H

PhC +H2 < Ph2C
+H < Ph3C

+ < Me+

https://dl.doubtnut.com/l/_Bq4AUcMftPBx
https://dl.doubtnut.com/l/_wOmZ5QE71br4
https://dl.doubtnut.com/l/_ah5b74ZlaFYr


8. Which of the following compounds is the most acidic ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

HCO2H

CH3CO2H

CH3CH2CO2H

CCl3CO2H

9. The acid having the highest  value among the following is

A. acetone

B. formic acid

C. phenol

D. methanol

pKA

https://dl.doubtnut.com/l/_ah5b74ZlaFYr
https://dl.doubtnut.com/l/_4cYemEv41WnJ


Answer: A

Watch Video Solution

10.  


The correct order of acidic character in the above compounds is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

a > b > c > d

c > a > d > b

b > c > a > d

a > c > b > d

11. The weakest base among the following is

https://dl.doubtnut.com/l/_4cYemEv41WnJ
https://dl.doubtnut.com/l/_p1Hrwks4EfS2
https://dl.doubtnut.com/l/_4MwA5FhJs6mW


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C6H5SO
−
3

C2H5O
−

C6H5O
−

CH3 − CH = CH − CH2 − O−

12. The increasing order of basicity for the following intermediates is

(from weak to strong) 

A. 

B. 

C. 

H3C −

CH3

|  

C Θ

|  

CH3

(i)

  H2C = CH −
Θ

CH2
(ii)

  HC =
Θ

C
(iii)

  
Θ

CH3
(iv)

  
Θ

CN
(v)

(iv) < (ii) < (i) < (iii)

(i) > (ii) > (iii) > (iv)

(i) > (ii) > (iv) > (iii)

https://dl.doubtnut.com/l/_4MwA5FhJs6mW
https://dl.doubtnut.com/l/_cbZMtZRCcaU0


D. 

Answer: D

Watch Video Solution

(i) < (iv) < (ii) < (iii)

13. The proper tautomeric structure for 2-aminopyridine (X) is 

A. 

B. 

https://dl.doubtnut.com/l/_cbZMtZRCcaU0
https://dl.doubtnut.com/l/_lRFDXOxekh2u


C. 

D. 

Answer: A

Watch Video Solution

14. The correct order of acidity for the following compounds is 

A. Benzoic acid  phenol  p-nitrobenzoic acid  m-nitrobenzoic

acid.

> > >

https://dl.doubtnut.com/l/_lRFDXOxekh2u
https://dl.doubtnut.com/l/_2KK8jS0LG2Rz


B. Phenol  p-nitrobenzoic acid  m-nitrobenzoic acid  benzoic

acid

C. p-nitrobenzoic acid  m-nitrobenzoic acid  benzoic acid 

phenol.

D. m-nitrobenzoic acid  p-nitrobenzoic acid  benzoic acid 

phenol.

Answer: C

Watch Video Solution

> > >

> > >

> > >

15. In which case, the order of acidic strength is not correct?

A. 

B. 

C. 

D. 

OH − > H2O > H3O
+

S2 − > HS − > H2S

NH3 < OH − > H2O

Cl− > Br > I −

https://dl.doubtnut.com/l/_2KK8jS0LG2Rz
https://dl.doubtnut.com/l/_qQ7U754IZ2rr


Answer: C

Watch Video Solution

16. The given structures are `:

A. 1 and 3

B. 2 and 4

C. 1 and 4

D. 2 and 3

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_qQ7U754IZ2rr
https://dl.doubtnut.com/l/_YG084pdRzr6H


17. As the base changes from  to  to  the basicity

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

RNH2 R2NH1 R3N

R2NH > R3N > RNH2

RNH2 > R3H > R2NH

RNH2 > R2NH > R3N

R3N > RNH2 > R2NH.

18. Which compound is the most acidic of the following ?

A. aniline

B. p-nitrophenol

C. phenol

D. acetaldehyde.

https://dl.doubtnut.com/l/_NiQ4gjElkePE
https://dl.doubtnut.com/l/_JtARLndWlCVM


Answer: B

Watch Video Solution

19. The order of decreasing stability is : 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3 + > CH3CH2 + > (CH3)2CH
+ > (CH3)3C

+

CH3CH2 + > CH3 + > (CH3)2CH
+ > (CH3)3C

+

(CH3)2CH
+ > CH3 + > CH3CH2 + < (CH3)3C

+

(CH3)3C
+ > (CH3)2CH

+ > CH3CH2 + > CH3 +

https://dl.doubtnut.com/l/_JtARLndWlCVM
https://dl.doubtnut.com/l/_PF5SdRbSfUjK


20. The correct order of strengths of the carboxylic acids 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

I > II > III > IV

II > IV > I > III

III > I > IV > II

IV > II > I > III

21. The carbocation  is stabilized primarily by(CH3)
3
C +

https://dl.doubtnut.com/l/_3PvFTpzSF2Tm
https://dl.doubtnut.com/l/_dvp5Eh3E8rnI


A. hyperconjugation

B. tautomerism

C. resonance

D. conjugation

Answer: A

Watch Video Solution

22. The correct order of acidity for the following compounds is 

A. acetylene  ethylene  ethane

B. ethylene  ethylene  ethane

C. ethane  ethylene  acetylene

D. acetylene  ethane  ethylene

Answer: A

> >

> >

> >

> >

https://dl.doubtnut.com/l/_dvp5Eh3E8rnI
https://dl.doubtnut.com/l/_TQ1xlExRUnAq


Watch Video Solution

23. Statement I  p -hydroxybenzoic acid has a lower boiling point than o-

hydroxybenzoic acid. 

Statement II  o-hydroxybenzoic acid has intramolecular hydrogene

bonding.

A. Steric hindracne

B. Hygrogen bonding

C. Mesomeric effect

D. Solvation energy

Answer: B

Watch Video Solution

:

:

24. Which of the following compounds can be hydrolysed?

https://dl.doubtnut.com/l/_TQ1xlExRUnAq
https://dl.doubtnut.com/l/_IdIkub4KEzS5
https://dl.doubtnut.com/l/_FiBHUwekTvsx


A. 

B. 

C. Toluence ,  =41

D. 

Answer: A

Watch Video Solution

HCOOH, pKa = 3.8

H2S, pKa = 7.0

pKa

CH3NH2, pKa = 40

25. The most acidic compound among the following is

A. 

B. 

C. 

Cl − CH2 − CH2 − OH

https://dl.doubtnut.com/l/_FiBHUwekTvsx
https://dl.doubtnut.com/l/_5yAavXU9tmID


D. 

Answer: C

Watch Video Solution

26. Keto and enol forms of a compound are related to each other as

A. Resonance structures

B. Conformations

C. Configurational isomers

D. Constitutional isomers

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_5yAavXU9tmID
https://dl.doubtnut.com/l/_Hb0X4QjlADkZ


27. The correct order of acidity of the following compounds is: 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(I)CH3COOH     (II)ClCH2COOH     (III)O2NCH2COOH     (IV )

IV > II > III > I

I > IV > II > III

II > III > I > IV

III > II > IV > I

28. The order of acidity of the H-atoms underlined in the following

compounds is in the order: 

A. 

B. 

IV > II > I > III

II > IV > III > I

https://dl.doubtnut.com/l/_I5Yu8M17OfF8
https://dl.doubtnut.com/l/_5NMsMePiHX5G


C. 

D. 

Answer: A

Watch Video Solution

III > IV > I > II

I > III > II > IV

29. Electrophiles are electron seeking species. Which of the following

groups contain only electrophiles ?

A. Carbocation

B. Carbanion

C. Free radical

D. None of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_5NMsMePiHX5G
https://dl.doubtnut.com/l/_CKlFCmuS9d6X
https://dl.doubtnut.com/l/_BlDNdzJhwCpR


30. The most stable free radical is

A. Trityl radical

B. Diphenyl methyl radical

C. 2,4,6-Tri-ter-butylphenoxy radical

D. tert-butyl radical

Answer: C

Watch Video Solution

31. The preferred sites of protonation in the following compounds are 

A. 1 and 3

B. 2 and 4

https://dl.doubtnut.com/l/_BlDNdzJhwCpR
https://dl.doubtnut.com/l/_QxJ9ae0cfkAM


C. 1 and 4

D. 2 and 3

Answer: A

Watch Video Solution

32. Acetone and propen-2-ol are

A. enantiomers

B. keto-enol tautomers

C. diastereoisomers

D. meso compounds

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_QxJ9ae0cfkAM
https://dl.doubtnut.com/l/_s9Uepw7WZVKx


33. Which of the following compounds contain active methylene group ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3CH2NO2

CH3COCH2COCH3

PhCOCH2CN

CH3CH2NH2

34. Which of the following phenols is most soluble in aqueous sodium

bicarbonate?

A. 2,4-dihydrozyacetophenone

B. p-cyanophenol

C. 3,4-dicyanophenol

D. 2,4,6-tricyanophenol

https://dl.doubtnut.com/l/_Ja9w4QDSmVBW
https://dl.doubtnut.com/l/_ds4ldoQjpOf9


Answer: D

Watch Video Solution

35. The most stable carbocation is

A. 

B. 

C. 

https://dl.doubtnut.com/l/_ds4ldoQjpOf9
https://dl.doubtnut.com/l/_jI7Gr0Gb61R4


D. 

Answer: B

Watch Video Solution

36. Arrange the following anilines in decreasing order of basicity 

1.  


2.  


3.  


4. 

A. 

B. 

C. 

D. 

C6H5NH2

o − CH3C6H4NH2

m − CH3C6H4NH2

p − CH3C6H4NH2

II > IV > I > III

III > II > IV > I

III > IV > II > I

I > II > IV > III

https://dl.doubtnut.com/l/_jI7Gr0Gb61R4
https://dl.doubtnut.com/l/_xcbGmIsmIvpK


Answer: C

Watch Video Solution

37. The  value for the three ionisable groups X, Y and Z of glutamic

acid are 4.3 , 9.7 and 2.2 respectively. 

 The isoelectric point for the the amino

acid is

A. 

B. 

C. 

pKa

H
X
O2C − CH2 − CH

∣

.⊕ NH3

Y

− CO2H
Z

CH3COOH

https://dl.doubtnut.com/l/_xcbGmIsmIvpK
https://dl.doubtnut.com/l/_eWVz64rEysTX


D. 

Answer: C

Watch Video Solution

38. At normal temprature ,X and Y 

A. Resonance structures

B. tautomers

C. functional isomers

https://dl.doubtnut.com/l/_eWVz64rEysTX
https://dl.doubtnut.com/l/_RJAyi5cyKl7c


D. positional isomers

Answer: B

Watch Video Solution

39. The increasing order of the basicity of the following compounds is : 

A. 

B. 

C. 

D. 

Answer: A

W h Vid S l i

I > II > IV > III

IV > II > I > II

III > II > I > IV

I > II > III > IV

https://dl.doubtnut.com/l/_RJAyi5cyKl7c
https://dl.doubtnut.com/l/_OB5eZkqv4otp


Watch Video Solution

40. The most basic nitrogen in the following compound is 

A. I

B. II

C. III

D. IV

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_OB5eZkqv4otp
https://dl.doubtnut.com/l/_kd22sTYFkC6u
https://dl.doubtnut.com/l/_U5QaGTSNAr3n


41. The order of enol content in the following molecules is 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

a > b > c > d

a > c > d > b

a > c > b > d

a > b > c > d

https://dl.doubtnut.com/l/_U5QaGTSNAr3n


42. The order of ka values of the following acids is: 




https://dl.doubtnut.com/l/_suzI4GjF2sMh





https://dl.doubtnut.com/l/_suzI4GjF2sMh





https://dl.doubtnut.com/l/_suzI4GjF2sMh


A. 

B. 

C. 

D. 

IV > I > III > II

III > IV > I > II

II > I > III > IV

II > III > I > IV

https://dl.doubtnut.com/l/_suzI4GjF2sMh


Answer: D

Watch Video Solution

43. Order of basicity of the following species is 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

III < IV < II < I

III < I < II < IV

III < II < I < IV

IV < I < II < III

https://dl.doubtnut.com/l/_suzI4GjF2sMh
https://dl.doubtnut.com/l/_UCwevIbKvLmi


44. The most stable radical among the following is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_u0qZdIJ9UIOC
https://dl.doubtnut.com/l/_QKmC78Dh5sx0


Part-III: Practice Test-2 (IIT-JEE (Advanced Pattern))

45. The molecules that can exhibit tautomerism are 

A. I, IV

B. II , III

C. I,III, IV

D. I,II

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_QKmC78Dh5sx0


1. The decreasing order of stability of following cations is :- 

A. 

B. 

C. 

IV > III > II > I

I > II > III > IV

I > II > IV > III

https://dl.doubtnut.com/l/_ptlOZdcvMdOu


D. 

Answer: B

Watch Video Solution

I > III > II > IV

https://dl.doubtnut.com/l/_ptlOZdcvMdOu


2. The order of ka values of the following acids is: 




https://dl.doubtnut.com/l/_W3xy8FEl9ZNX





https://dl.doubtnut.com/l/_W3xy8FEl9ZNX





https://dl.doubtnut.com/l/_W3xy8FEl9ZNX


A. 

B. 

C. 

D. 

I > II > III

I > III > II

III > II > I

III > I > II

https://dl.doubtnut.com/l/_W3xy8FEl9ZNX


Answer: C

Watch Video Solution

3. The decreasing order of rate of reaction for the following compounds

towards  (bimolecular nucleophilic substitution with tetrahedral

intermediate) reaction is 

(i)  


(ii)  


(iii)  


(iv) 

A. 1 and 3

B. 2 and 4

C. 1 and 4

D. 2 and 3

SN2Th

CH3 − CH2 −

O

∣ ∣

C − NH2

CH3 − CH2 −

O

∣ ∣

C − Br

CH3 − CH2 −

O

∣ ∣

C − O −

O

∣ ∣

C − CH2 − CH3

CH3 − CH2 −

O

∣ ∣

C − O − C2H5

https://dl.doubtnut.com/l/_W3xy8FEl9ZNX
https://dl.doubtnut.com/l/_QKpYJJipmjx7


Answer: A

Watch Video Solution

4. Which of the following carbocation is most stable

A. 

B. 

C. 

https://dl.doubtnut.com/l/_QKpYJJipmjx7
https://dl.doubtnut.com/l/_qh4oNIWiHwah


D. 

Answer: C

Watch Video Solution

5. In which pair the first atom or ion is not larger than the second :-

A. Adipic acid, succinic acid

B. Fumaric acid, maleic acid

C. Pthalic acid, terepthalic acid

D. Benzoic acid, Picric acid

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_qh4oNIWiHwah
https://dl.doubtnut.com/l/_lpLjy9oiZvKB


6. Which among the following reactions is favoured in forward direction

by increase of temperature?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

EtOH + PhOӨ ⇔ EtOӨ + PhOH

Ch3 −
Ө

CH2 + CH3 − NH2 ⇔ CH3 − CH3 + CH3

Ө

NH

7. Write the products of the following reactions: 

https://dl.doubtnut.com/l/_lpLjy9oiZvKB
https://dl.doubtnut.com/l/_hMcaYPXrqeiZ
https://dl.doubtnut.com/l/_Att8RP2ipkyA


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(i)&(ii)

(ii), (iii)&(iv)

(i), (ii)&(iv)

(i), (iii)&(iv)

8. Compare the bond lengths and select the correct option: 

A. 

B. 

C. 

D. 

x = y = z

x > y > z

x < y < z

x > y = z

https://dl.doubtnut.com/l/_Att8RP2ipkyA
https://dl.doubtnut.com/l/_tPCGevkVHPa8


Answer: B

Watch Video Solution

9. Which of the following compounds will show tautomerism ?

A. 2,2-Dimethylpropanal

B. 2,2-Dimethyl-1 nitropropane

C. Acetyl Acetone

D. Benzophenone

Answer: B::C

View Text Solution

10. Which of the following is correct regarding stability of the following

pair of species ?

https://dl.doubtnut.com/l/_tPCGevkVHPa8
https://dl.doubtnut.com/l/_1WRQG014Y0Av
https://dl.doubtnut.com/l/_3gvbaeom9UND


A. 

B. 

C. 

D. Pent-2-ene lt 2-methylbut -2-ene

Answer: A::B::C

Watch Video Solution

CH2 =
+

N =
−

N > ¯̄̄CH2 −
+

N ≡ N

CH2 = CH −
+

CH − ¯̄̄O > ¯̄̄CH2 − CH = CH −
+

O

CH3 −

O

∣ ∣

C − ¯̄̄O > CH3 − CH2 − ¯̄̄O

11. Which of the following are correct statements?

A. Guanidine  is more basic than pyridine

because conjugate acid of guanidine has three equal contributing

resonating structure.

B. Diethylamine is stronger base than triethylamine in aqueous

medium

⎡
⎢⎢
⎣
NH2 − C

∣ ∣

NH

− NH2

⎤
⎥
⎥
⎦

https://dl.doubtnut.com/l/_3gvbaeom9UND
https://dl.doubtnut.com/l/_1MGVqfLd0L8n


C. Ortho-methyl aniline is weaker base than para-methyl aniline.

D. 2,4,6-Trinitro-N,N-dimethyl aniline is stronger base than 2,4,6-

Trinitro aniline.

Answer: A::B::C::D

Watch Video Solution

12. The tautomeric pairs are

A. 

B. 

C. 

D. 

Answer: A::B

View Text Solution

Me2C = NOH and Me2CH − N
⊕

= O

CH2 = CH − NHCH3 and CH3 − CH = N − CH3

CH2 = CH − C
∣

OH

H − CH3 and CH3 − CH2 − O
∣ ∣

O

− CH3

https://dl.doubtnut.com/l/_1MGVqfLd0L8n
https://dl.doubtnut.com/l/_c4fF18wsW8Uc


13. In which compounds (II) is more basic than (I)

A. 

B. 

C. 

D. 

Answer: A::B::C::D

Watch Video Solution

H2N −

O

∣ ∣

C − NH2
( I )

&H2N −

NH

∣ ∣

C − NH2
( II )

CH3NH2
( I )

&(CH3)2NH
( II )

14. Which of the following reactions is/are feasible? 

A. CH3COONa + NCOOH → CH3COOH + NCOONa

https://dl.doubtnut.com/l/_Mg2GD8FaFVIV
https://dl.doubtnut.com/l/_ky3AmzFmygDj


B. 

C. 

D. 

Answer: B::C::D

Watch Video Solution

CH3COONa + Ph − OH → CH3COOH + PhONa

NH2 −

CH2

∣ ∣

C − NH2 + NH2 −

⊕
NH2

∣ ∣

C − NH2 → NH2 −

CH2

∣ ∣

C −
⊕

NH2 + N

15. In the given molecules the sites undergoes deprotonation and

protonation most readily respectively are x & y the x+y=? 

How many of the following compounds will accept  from ammonium

ion. 

Pyridine , Aniline, Pyrrole, Tripheryl amine, 

Benzyl amine, Methyl amine, Di-methyl amine, Tri-methyl amine

View Text Solution

1

N2H − C
∣ ∣

2NH

−
3

NH − CH2 − CH2 − CH2 − C
∣

4NH2

H − overeset(5)(COOH

H ⊕

https://dl.doubtnut.com/l/_ky3AmzFmygDj
https://dl.doubtnut.com/l/_PAfy9nCRiWs8


Part-III: Section-4 : Comprehension Type

16. In the given molecules the sites undergoes deprotonation and

protonation most readily respectively are x & y the x+y=? 

 


Watch Video Solution

1

N2H − C
∣ ∣

2NH

−
3

NH − CH2 − CH2 − CH2 − C
∣

4NH2

H −
5

COOH

1. Which of the following acids (given below) react with  and

liberate  ? 


Watch Video Solution

NaHCO3

CO2(g)

https://dl.doubtnut.com/l/_PAfy9nCRiWs8
https://dl.doubtnut.com/l/_R5jGw52qFTrW
https://dl.doubtnut.com/l/_R8bGcq5lhaQt


2. Whenever an intermediate carbocation is formed in reaction it may

rearranges. 

Only those carbocation will rearrange which can produce more stable

species . It can be done either by : 

(i) Shifting of H, alkyl , aryl, bond (1,2-shifting ) 

(ii) Ring expansion 

(iii) Ring contraction 

Most stable rearranged carbocation is

 is

https://dl.doubtnut.com/l/_0DOJgX8Gi2CN


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3. Assertion : Phenol is more reactive than benzene towards electrophilic

substitution reaction. 

https://dl.doubtnut.com/l/_0DOJgX8Gi2CN
https://dl.doubtnut.com/l/_3YJ8NCqB9cvk


Part-III: Section-5: Matching List Type

Reason : In the case of phenol. The intermediate carbocation is more

resonance stabilised.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_3YJ8NCqB9cvk


1. Match List I with List II and select the correct answer using the codes

given below the lists 

A. 

B. 

C. 

D. 

P Q R S

3 1 2 4

P Q R S

1 2 4 3

P Q R S

2 1 3 4

P Q R S

3 2 1 4

https://dl.doubtnut.com/l/_iPByg7t2kiuY


Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_iPByg7t2kiuY

